35 3

rank(A) =1 oy n¥on A xdn .1

D»an A —yl W n>on A—xl :opnn z,y € R~ {0} 535% wron (N)
959 TAR Y'Y Ty v 199 n—1=N"1 MNad D9 n—1= "1 0y 0 V'Y NN
A—31, A+ 31 n25v1a DX YaN Y'Y OV P 2, YW 197 NI 390 NN
DXRNN MINY NP MM A —x] AR DINDY v W) V'Y T, Yy~ R MDoN NY
Ax=o
MY 0D NAITINY o N9 A — ] “w 70 x £ 0 0»p NIdNa OXD (2)

MM PN 01
N] ) 0 0

T 20 +y+z
T y =| 2+2y+2z | 2 o npnyn T : R? — R3 nn 2
z T+y+2z
1 1 1
Y NN B = o, 1 1],1 1 D0AN YYN N NPNYN NN
0 0 1

.Y D02 Syn NNIN 1DODY NYDID
Y POITIODN DDIN DY ,MNYD YNNIV TPIRYD NPRNYN D8Ya ' PN

2 1 1
PO M oA Syn YooY NN 0P Swin ey | 1 2 1 NNIVNN
11 2

Syn NN 0NN 2B DDA Yyn NN ONDON PN .00 YD Dyn Nyvdd
DN .[T]g "2 DTIP HY1INA NNV Y D DY ,[T]g N NS D> B

2Py 0 [T)8 = | [Tl .o [Ta)ly | o B={v1,... 0.}
| |
2 3 4 100
12 = 1 3 4 =010
1)\ 2/1,1\4/], 1 2 4
1175 DINDNN DNVPIM L,(OMNNY OOy DMN WY DX I11D)
100 ~1 —1 1 00 ~1 ~1
01 0 o |= 0o |],[0 10 1 | =] 1
1 2 4 1 3 1 4 0 1
1470 DONNNN NOPIN
100 1 1
01 0 1| =11
1 2 4 1 7
Baia)lpjn)
-1 -1 1
P=| 0 1 1
31 7



MIINDNA PON NN NIN 1 722 NN ON :NAN J9INA N2 NWIDYA 9pan 72dy .3
N 3 1’23 ON L2712 INWY X 17D 7y % MHINONI N 2 131 NN ON .1

IMNINNY O 1 INND MIANDNN NN .IVIDYNIN NP2 DION VYN % mHanona

b1
| po TPNYNNN NNYONN 1NN N Hd3a
P3
13 -1 1
oapn .| —12 wovN 1 sno 1 0 NN 179 DORNN MNY N0
6 0 0
1
I 1 -5
Prt=101 2
1
00 3



